ofojc]:

(78]
1 ckg BAZe| Hol=?
45’
@ 6ront @ 7ronf @ gro
@ 9ronf ® 10xom
[78]
2 ClS f/Zel Hol=?
~Gem
@ 20xc @ 21ron @ 227
@) 23rom (® 24ron
[73]
3 BEX|E2| Zo|7} 3emOld, ZAZte| 7|7} 60°
ol BxiZe| 52| Z4ol=?
1 3
@57rcm @Wcm ®E7rcm
5
@ 21 em @ —mTcm

4 ctg B Eol Hol=?

@ e5ron @ 7orcn ®3) 75w
@ sorom (5) 85rem
5 CIS A7 | 52| Fl=?
e 12 Ema
P
Scm "-_. \
Z 15 it
Zemd I
lE:rm !:.n':
@ s520cm (2 5250m @ s30cm
® 5350 ®) s40cm

[7&]

[78]



(73]

12 cm

Jom

(1 193cn (2 294cn ® 295cn
® 296cn (® 297cn
(78]
[ ClS |lEe| ZEol=?
@ 167 o @ 207 onf @ 247 onf
@ 287 o ® 327 o
(78]
8 CIS /7|52l Ful=?
@ 18xcm @ 20mcm @ 22xcm
@ 24mcm ® 26xcm

[78]
9 F= AERIZ|AECl HHjE cf2n 22 Azt Z
g E2 0|3sl &x| ot B ttE8 1 sict
MZU|S Zeke| of B9 M Ee{o| Zo|rt
9cm, =0[7F 8em@l AHZtHO|L, 7|Se| =0|= 4
cmO|ct. O E0| HIEgi0] SAS MY Atz At
2 ThECHH of AfztZlgtel Hul&=7?
Yy
e "
@ 18cm @ 36cm @ 720m
@ 144cm (B 28sam
[7&]
10 HiX|20| 6cmo|2 FH7} 3emQl SFmbo|E gt
Ect o] sFHfo| st =22 FZAIZte| 37|17}

(=)

0" el FAE Zeolct
ul= Hdofelvte

@ 67 o

@ 9r onf

@ 157 om ®B) 187 o

@ 127 o



11 ctg 2o Ro=?

&

@ 35rcm (5 38rcm

12 ctg Fof ghlol=?

W

M 187 o @ 367 o
@ 1447 o (5 2887 onf
13 C}S ghtel Hylol=?

W

® 707 onf @ 727 o

@ 767 o ®) 787 o

@ 32xcm

@ 727 onf

@ 747 onf

[6%]

[6%]

[6%]

[6&]

14 ctg dhtel 2|7
® 6o @ 1270 ®3) 18xon
® 24xcm (5) 30xcm

15 slo|EH|o|& Holsto] 2oz T Zeko| A
=
[

S nhsof HEofstain ot HHX|

cm, 32 MZ C2

[m]
X &2l Z0[7t 3emel AtFe| Fuet HEX|F2
t

O[7F 1em@l AME2| Fxfo| Xf= o

1) 26mom

@ s2rem ®B) 104xcm



